EARAROBREBRT —5 XN—ZXBISH—F

2021118148 (B) 5SEIERR4E

M 1—~E7S 3BISX YSR3MmE (BE) 46 (FE) &2

EEE=CIEE

18000 R

[AE%] 1 7%&:18,200,000 § ~ 23&:7,300,000 .~ 375:4,600,000H  43&:2,700,000H  53&:1,820,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S M) S — s 4 | DDWIE 1:47.4 4-5-5 |33.3/100.3| 3 470 | BRA— (ER)

11717 /7\.“./3?\7'37 IJ: — 55.0 (- -16) (E) ?_il‘f‘b—lm—l
RIN=VISA YT r—hvF #HET7—L
3~ g 4t 5 | AMEIGth 1:47.4 3-3-3 [33.6/100.2| 6 | 488 |HBOEZ ()

215/5 I{j777} i e 55.0 &P w) |,@ #HEL—2-2
R:IvRIVITA B:IVITSATN—R HBEIT7—L4A

S =~ it 4 | OPEE 1:47.5 4-4-4  [33.5]99.1 | 1 462 |BEEHENT ER)

30111 flftftﬁjjj o 55.0 O5) ) |EFEAR—LF VTR (@)
RiFVITHARXANXN B:L—RA4VF4 D /=Y Tr7—L

°— 3 | ENTS 1:47.7 2-2-2 |342( 93| 4 | 476 |FTAHRE &FF)

4,88 /1\_/\07“’ R 53.0 (1 1/2) » |R. Z¥I-—VY
RIIET7RAT7 B:TPARXAVY /=Y T7—LA
TJ4AFUEFY i 4 ;ﬁsﬂé?’é?ﬁEA 1:47.9 1-1-1 |34.5]91.0 | 5 | 444 E;Jaé? ER)

: (1) &
REZF BIUFU—TYT2—XR O stz s —zeuz
4% 6 | GfEfE 1:48.4 7-7-7 | 33.9] 89.0 | 8 438 517 (8)
AN ) 5.0 &) @y |EFRAR—LF VT2 ()
R:FA—TAVNT N BI\DFY #HBT7—L
SATTIFF it 4 %E%%\%ﬂ (1:48.8) 8-8-8 [33.9] 84.6 | 2 502 %ﬁ €35
. 2172 _ -
R:/ITURN 854928 —by b+ (-2) L= N
R t 5 | KHEHXA 1:49.1 6-6-5 |35.0| 77.6 | 7 49) | PEAL (EH)
LA RkR—0O (B] # EE.O (1 3/4) (-4) ‘(‘ﬁ) ‘t"\yg:‘b\y RI77—L
R:AJU—rvEe—0O— H:OREIL—Y— EvIUy RIT7—LA

[ BN

En'n 45.8-34.0

NOYIAL | 13.4-12.0-12.1-12.2-11.9-11.8-10.9-11.4-11.7

@ 11— —B&IEfI

13—+ —

20—F— (+6,8)5(1,7)-4-2,3

30—7— 6,8,5,1,7,4-2-3

43—F— |6,8,5,1(4,7)-2-3

o ILRE

BB 7 440 JA R 5-7 460/ 5 & 5-7 1,410 3EE 1-5-7 1,690

B B 7 2004 1-7 320 =51 7-5 2,370 3EH 7-5-1 8,730M

5 2004 1-5 460/
1 150F9

ABIC OV TRUTEREERRODDZE. THRIIZEL.




